Precalculus with Limits NameSO{UT/ Orl r\-

Practice Test Period
Vectors

1. Let vector v be defined by the initial point (1,3) and the terminal point (2,5).

a) Write the vectorv = (__| | A ) Sloge = e = 2
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b) Determine the direction angle of the vector.

tang = 2 645343°
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2. letu = (—1,3),v = (2,4),and w = (2, —5). Calculate the following.
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3. Use the diagram to sketch the following.

a)a+b T

c)a-b




4. Consider the vector v = —4i + 7j. Determine a unit vector u that is in the same direction as v.
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5. A vector a has magnitude ||a|| = 20 and has direction angle 210°. Write this vector as a linear combination of the unit
vectorsiand j.

A= 0wsQdr+ 30 Smﬂ/ﬁfj ;

6. A pilot must actually fly due west at a constant speed of 382 mph. There is a head wind of 55 mph blowing in the
direction 22° south of east. What direction and speed must the pilot maintain to keep on course due west?
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7. Find the tension in eacg th\j'yvires shown in the diagram. 8 Rt ) /ZQL/

8=171.376"

1200 Ibs.
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8. Find the dot product of the vectors ¢ = (4, —5) and d = (—4,3).

Cod=d4EN4E9R) =-16-15=- 3|

9. Find the angle between the vectors @ = 3i + 4j and b = 5i + 12j.
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10. Determine the value of c that will make vectors v = (5,7) and w = (-2, ¢) orthogonal.

m%ogona/{ mears Trat bt praguct = O
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11. Mr. Carfagna had to pull a washing machine up a 20° ramp on a U Haul truck while moving a friend on Sunday. The
washing machine weighed 200 Ibs. What force parallel to the incline ramp did Mr. C use to pull the washing machine
onto the truck? What was the magnitude of the force perpendicular to the ramp?

ml
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